
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Arithmétique des exposants entiers

(−7) − (−6) =2 (−3) − 7 =3

3 + (−10) =3 (−5) + (−6) =

8 + 4 = (−8) − (−3) =

5 − 1 =2 4 + (−8) =3

(−2) − 2 =3 (−7) + (−9) =3

(−3) − 4 = (−4) − 9 =2

(−6) + (−3) =3 6 − (−3) =2

(−1) + 1 =3 4 + (−6) =3

(−7) − 6 =0 (−6) + (−4) =2

(−4) + (−5) = (−1) + 10 =3
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Arithmétique des exposants entiers

(−7) − (−6) = 552 (−3) − 7 = (−34)3

3 + (−10) = 173 (−5) + (−6) = (−11)

8 + 4 = 12 (−8) − (−3) = (−5)

5 − 1 = 242 4 + (−8) = 563

(−2) − 2 = (−10)3 (−7) + (−9) = (−352)3

(−3) − 4 = (−7) (−4) − 9 = 72

(−6) + (−3) = (−219)3 6 − (−3) = 392

(−1) + 1 = 03 4 + (−6) = 583

(−7) − 6 = (−5)0 (−6) + (−4) = 322

(−4) + (−5) = (−9) (−1) + 10 = 93
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